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(i) HCN
(ii)H,0/H"
(iii) HNO,

61. D-—(+)—Glyceraldehyde

The products formed in the above reaction are
(1) Two optically active products

(2) Two optically inactive products

(3) One optically active and one meso product

(4) One optically inactive and one meso product
()HHCN
(o,
IR STATHAT H I~ TS -
(1) BT ¢avr goie I 2|
(2) <1 gdvT JATEOich SIS 8 |
(3) T gavT guic IS 2 TAT T 34T (meso) IS 2 |
(4) T& ¢avT IMIdh IS & 3R UH AT (meso) SIS & |
Question ID: 3666947262
Ans.  Official Answer NTA (3)

D —(+) — Glyceraldehyde

CHO II{ H
H——OH HO-C-N  HO——OH
. +
Sol. CH,oH (HHCN H—|— OH H——OH
D-glyceraldehyde CH,OH CH,OH
l(ii)HZO/IT
H H
HO——COOH N HOOC——OH
H——OH H——OH
CH,0H CH,0H
l(iii)HNQ
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62.

H H
HO——COOH N HOOC——OH
H——OH H——OH
COOH COOH
(Meso) (0.A)
COOH COOH
H——OH N HO——H
H——OH H——OH
COOH COOH
(Meso) (0.A)

Which of the following statements are not correct ?

A. The electron gain enthalpy of F is more negative than that of CI.

B. Ionization enthylpy decreases in a group of periodic table.

C. The electronegativity of an atom depends upon the atoms bonded to it.

D. Al,O, and NO are examples of amphoteric oxides.

Choose the most appropriate answer fromthe options given below :

(1)Band D only 2)A,B,Cand D (3)A,BandDonly (4)A,CandD only
frferfad § & 319 A dore |el T8l 8?

A. Cl &1 3t F &) solde™ i Tl 21fdie -omces 2 |

B. amad Ao & U # 3mad it wed 8 |

C. U% YHIY] &) fayd FeomciehdT SEN 3Mafrd gax ARl W R &l 2|

D. AL O, @ NO SHger| sifadirgs! @ SaTexv g |

A A T faeet ¥ W waifE IRE SR GR

(1) ®aet BT D (2)A,B,C@nD 3)daa A,BaaD (4) ®aad A, CaarD

Question ID: 3666947246

Ans.

Sol.

Official Answer NTA (4)
Electronegativity of an element depends on the atom with which it is attached
NO =neutral oxide

Al O, =Amphoteric oxide.
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63.

The incorrect statement from the following for borazine is :
(1) It contains banana bonds. (2) Itis a cyclic compound.

(3) It has electronic delocalization. (4) It can react with water.

IRl @ fory fereafarRRad & & B 1 B wE TR 7
(1) S Pl a7 81 B | (2) I8 g@g AfE 7 |
(3) s galdeie 3= Bar 2| (4) T8 STt ¥ AfAfohar o Aot 2|

Question ID: 3666947251

Ans.

Sol.

64.

Official Answer NTA (1)
Borazine is B,N,H,

H

l ]
H\f%éB \I%/H

ol
o
H

B,N,H, + 9H,0 —> 3NH, + 3H,BO, + 3H,

3773776

The pair of lanthanides in which both elements have high third - ionization energy is :

(1)Eu, Gd (2) Dy, Gd (3)Lu, Yb (4)Eu, Yb
FIATIIS] BT a8 Y fOrH S Al B G AT Sl 9ed B
(1)Eu, Gd (2) Dy, Gd (3)Lu, Yb (4)Eu, Yb

Question ID: 3666947252

Ans.

Sol.

65.

Official Answer NTA (4)

2+ .
Bu®: [Xel4f" ) fioh 1E due to half filled
Y2 [Xe]df and fully filled configurations.

The radical which mainly causes ozone depletion in the presence of UV readiations is :

(1 Cr (2) CH,’ (3) NO’ @ on
ToId S q w0 A RIS fafdseon @ SuRerfa # 3ol e axar 8, 98 &
(1) CI* (2) CH;’ (3) NO* @ oh

Question ID: 3666947254

Ans.

Official Answer NTA (1)
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Sol.

66.

0,(g) — 5 O(g) + O(g)

O,(g) + O(g) —> O,(g)

CF,Cl(g) —w , Cl(g)+ CF,Cl(g)
Cl(2)+0,() —> ClO(g) + O (g)
Cl10(g) +0(g)—> Cl(g) + O,(g)

In the reaction given below

(i) HCI -
—_—
(i) KOH Major Product
HN OH

B'is:

NH,
4
NH,
(%? HCI lBl
(i1)) KOH T ST
HN OH
B' %
2) g/ :
NH,
“4)
NH,
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Question ID: 3666947260
Ans.  Official Answer NTA (3)

Sol.
(HOH
w’
NH, rmg
Expansmn
@
l(z) oH®

NH,

67.  What happens when a lyophilic sol is added to a lyophobic sol ?
(1) Lyophilic sol is dispersed in lyophobic sol.
(2) Film of Ilyophobic sol is formed over lyophilic sol.
(3) Lyophobic sol is coagulated
(4) Film of Iyophilic sol is formed over lyophobic sol.
FIT BIAT 8 g Yeb gavifl Wil bl gafavefl dia # fer < 87
(1) safarrft Atar § gavrf dfer faafsta & smar 21
(2) TaREY el TR gafaRefy A &7 v fShed a9 oIl 2 1
(3) wafarrft A &7 ThaT 81 ST B |
(4) =afaRrh Afd W ga=efl A @ U@ ed a9 oIl 2
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Question ID: 3666947245

Ans.  Official Answer NTA (4)

Sol.  Lyophilic sol formed protection layer over lyophobic sol

68.  Which one of'the following is most likely a mismatch ?

(1) Copper - Electrolysis (2) Zinc - Liquation

(3) Titanium - van Arkel Method (4) Nickel - Mond process
fa=faRad o & 9 91 Ud 3ifSpad Farfad 99d ® ¢

(1) PIR — Iy 3rqees (2) fSip — wraiTer

(3) eI M — dFsIRSGe fafdy (4) Fidet — Hive UshH

Question ID: 3666947247
Ans.  Official Answer NTA (2)
Sol.  Zincisrefined by distillation method, which is used for metals having low boiling point.
69. Given below are two statements :
Statement I : Permutit process is more efficient compared to the synthetic resin method for the softening of
water :
Statement II : Synthetic resin method results in the formation of soluble sodium salts.
In the light of the above statements, choose the most appropriate answer from the options given below :
(1) Statement I is incorrect but Statement II is correct
(2) Both the Statemets I and II are incorrect
(3) Both the Statements I and II are correct
(4) Statement I is correct but Statement Il is incorrect
A <1 wee Ry -
U | : Feaifta Mo faf &) amen wRgfee U St &1 95 A # 1fde e B |
FUA 11 : deeiftg o fafy 3§ gomeia aifsam dee a9 2 |
IWIFd AT & ol -1 fay I [Javedi 4 & waifts Ifad SR g
(1) B 1 |l 981 & IR B 11 981 & |
(2) DU [ @ B 11 <1 &l Fal 2 |
(3) B 1 7o B 11 ST 981 2 |
(4) DU 168 & g b e 78T 2 |
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Question ID: 3666947248

Ans.  Official Answer NTA (2)

Sol.  Nowadays hard water is softened by using synthetic ion exchangers. This method is more efficient than zeolite
process/Permutit process

70.  Matchthe following

Column -A Column-B
a.Nylon -6 I. Natural Rubber
b. Vulcanized Rubber II. Cross Linked
c.cis- 1,4 - polyisoprene I1I. Caprolactam
d. Polychloroprene IV. Neoprene

Choose the correct answer from options given below :

MHa->ILb>I,c>Ld>1V 2Q)a->ILb—>IV,c>Ld—>1
B)a—>IL,b>Il,c>1V,d—>1 @a—>IV,b>Ill,c>I,d—>1
frferaa drerdl AT B &1 Ads HIfog —

PicH - A PicH - B

a. I - 6 | IEARGIREN

b. gehildd Ja” 1. fie afea

c. cis - 1, 4 - urcilems A= [11. dUTIheH

d. UTeHFRIYA I\ASICIEIE]

A fau fdsheul % ¥ W8l SR giu -

MHa->ILb>I,c>Ld>1V 2Q)a->INLb>IV,c>1Ld—>1
B)a—>IL,b>Il,c>1V,d—>1 @a->IV,bo>Ill,c>I,d—>1

Question ID: 3666947261

Ans.  Official Answer NTA (1)

Sol.  Nylon -6 — Caprolactum (Monomer)
Natural rubber — Isoprene (Monomer)
Vulcanized rubber — Sulphur containing rubber

Neoprene — Chloroprene (Monomer)
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71. OH

+

+> Major product

In the above reaction, left hand side and right hand side rings are named as 'A' and 'B' respectively. They
undergo ring expansion. The correct statement for this process is :

(1) Finally both rings will become five membered each.

(2) Finally both rings will become six membered each.

(3) Only A will become 6 membered.

(4) Ring expansion can go upto seven membered rings

OH

T

SuRIE siffar # i ok dorr SR 3IR & acrdi Bl e A dr B! AW A W 2 | g9 sifafoear # g4
gl T fIRIR BT 2 | 39 UshH & foY el A & -
(1) 3fa@ # Sl gerdi # & UdD Uid AT BT ST |
(2) 3T # TFT gdt # A UID B AT B ST |
(3) Baet A B TEERT B ST |
(4) AT GERIY g1 g9 ddb aord AR 81 Hahdl & |
Question ID: 3666947258
Ans.  Official Answer NTA (2)

[
OH OH,

W o O U O
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@

H ®

v

l HZ migration

ring
%
Expansion

2

lring Expansion

D
(L+
IO % Uk
H

72.  Inthe following reaction X' is -

Anhy AICI,

CH;(CH,),CH; ——--=>"'X" major product

HCl
A

/CHZ\
H,C CH,
M it (2) C1 - CH, - (CH,),— CH, - Cl
chu”

(3) CH, (CH,), CH,CI 4) CHﬁH — (CH,),CH,

CH,

ferferRag srfdfehar X' 2 -

CH,(CH,),CH, —AMACL 1y g Seurg

HCl
A

~CHN
H,C CH,
(1) (2) C1 - CH, - (CH,),— CH, - Cl
H.C CH,
~cu”

(3) CH, (CH,), CH,CI &) CHﬁH — (CH,),CH,Question ID: 3666947256

CH.
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Question ID: 3666947256
Ans.  Official Answer NTA (4)

Sol.  When n-hexane is heated with anhydrous AlCI, and HCI. it isomerise to give a mixture of branched chain

alkanes.
AnxAlCl3

CH,

HCl e Lo I

CH, (Ch,), CH, — > CH,—-CH —(CH,),CH,
2— methyl pentane

+
CH,CH,CH —CH,CH,
|
CH,

3— methyl pentane

73. CIFat room temperature isa:

(1) Colourless liquid with trigonal bipyramidal geometry

(2) Colourless liquid with square pyramidal geometry

(3) Colourless gas with square pyramidal geometry

(4) Colourless gas with trigonal bipyramidal geometry

CIF, "R & T R & U

(1) TN =a et Feeh Ffasy snfafr 2

(2) FTEN wa ot o e snfafa g |
(3) TN 9 fogan ot faRifad =nfafr 2

(4) vrEe v et Berfa v saff |

Question ID: 3666947250
Ans.  Official Answer NTA (2)
F
F TI_ F

Sol. | _Cl_ | Uf.iscolourless liquid.
FE~F

74.  Among the following compounds, the one which shows highest dipole moment is -

() D{ @

MATRIX JEE ACADEMY
Office : Piprali Road, Sikar (Raj.) | Ph. 01572-241911

Website : www.matrixeduw.in ; Email : smd@matrixacademy.co.in

Page No. 11




ﬁ M ATRIX Question Paper With Text Solution (Chemistry)

JEE Main April 2023 | 13 April Shift-1

(=) © i

ATt § 9§ S Ieaan fgga gy <widl &, 98 § —

o[>=_] o _>=__
o =) @) i

Question ID: 3666947255
Ans.  Official Answer NTA (1)

o

%

v

N

—>

Both rings become Aromatic
so this compound shows
maximum dipole moment

75.  Inthereaction given below

Me
I

N (i) NaOH, A
O - = S !A'
(i) H Major Product

'‘Alis -

Me

[

N OH
D<OH

Me

|

N
3) D_OH (4) MeHN~_~_~CIIO
SIERSURIDIRCIBIEIC

l\/lle
(i) H' ¥
MATRIX JEE ACADEMY

Office : Piprali Road, Sikar (Raj.) | Ph. 01572-241911

Website : www.matrixeduw.in ; Email : smd@matrixacademy.co.in

Page No. 12




> M ATRIX Question Paper With Text Solution (Chemistry)
‘} JEE Main April 2023 | 13 April Shift-1

'A'%

l
N~ ,OH
(1) MeHN\/\/ COONa ©)
L Xon

Me
|
N
(3) D—OH (4) MeHN~_~_~CIIO

Question ID: 3666947259
Ans.  Official Answer NTA (1)

Sol. L/¥_ (i) NaOH D@?\
!

O . 0)
I M o I
ANH O N~
He OH He OH
76.  Inwhich of the following processes, the bond order increases and paramagnetic character changes to diamagnetic
one ?
(1) NO - NO* (2)0,—> 0, (3)0,—> 0> DN, >N
frforiad 3§ & fovd Ush H 1aee A FdT & 3R TG 0T &1 URT FHdHII 01 § gRaci 81 S 2 |
(1) NO »> NO* (2)0,—> 0, (3)0,—> 0> DN, >N

Question ID: 3666947244
Ans.  Official Answer NTA (1)
Sol.  NO"is paramagnetic with BO =2.5, No is diamagnetic with BO = 3.
77. Be(OH), reacts with Sr(OH), to yield an ionic salt. Choose the incorrect option related to this reaction from the
following :
(1) The element Be is present in the cationic part of the ionic salt.
(2) Be is tetrahedrally coordinated in the ionic salt.
(3) Thereaction is an example of acid - base neutralization reaction.

(4) Both Sr and Be elements are present in the ionic salt.
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Sr(OH), ¥ Be(OH), 3fffshan @ves U JAraf+ies Hiee <l & | Fre=feiad # & g4 aififshan & forg it fawey
|E TE1 8, IHDI g
(1) A< Be i@ WAlee & GRS 9T H SURYT &Il © |
(2) 3mafd HTee H Be aqshaid SUEHANIT 1T § |
(3) arfaferar ara—aR SERIFERT AMfHAT BT TH SITERT B |
(4) <9 T Sr 7T Be 3 HAlee # SURIT BN B |
Question ID: 3666947249
Ans.  Official Answer NTA (1)

Sol.  Be(OH), is amphoteric in nature.
Sr(OH), is basic in nature.
These two undergo acid reaction to form a salt.
Be(OH), + Se(OH), — Sr[Be(OH),]
(Salt)
78.  2-Methyl propyl bromide reacts with C,H,O~and gives 'A' whereas on reaction with C,H,OH it gives 'B'. The
mechanism followed in these reactions and the products 'A' and 'B' respectively are :
(1) S, 2, A=iso-butyl ethyl ether; S 1, B =tert-butyl ethyl ether
(2) S 1, A=tert-butyl ethyl ether; S, 2, B =iso-butyl ethyl ether
(3) S, 2, A=tert-butyl ethyl ether; S 1, B =2 butyl ethyl ether
(4) S, 1, A=tert-butyl ethyl ether; S 1, B =2-butyl ethyl ether
2-#fret Hifder srgs C,H,O- ¥ 3iffifhar oveh 'A' <l & widfd @8 C,H,OH ¥ 3ififshan oxe 'B' <dl & |
S fufeharell gRT ergaRas foham fafer Jerm Soure A 3iR 'B' o
(1) S, 2. A= amgai—<gfeet TRrel gor; S 1, B = tert-gfcel Tyt 2R
(2) S 1, A = tert-effeet TR $or; S 2, B = amgl —ggfea giret gor
(3) S 2. A= tert-feel TRl $oR ; S 1, B =2—ggfeel vRrel gerR
(4) S 1, A= tert-gfeel TreT 2R ; S 1, B =2-ggfeel Ufdrel geR
Question ID: 3666947257
Ans.  Official Answer NTA (1)
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Sol.

79.

o CH,
CHO |
T (A) CH, -CH —-CH, -0 -C,H,
" isobutyl ethyl ether

CH3—|CH —CH, J&Br
Me

S 1 ® o
—— > (B) CH,-CH —CH, +Br
C,H,OH I
CH,
l (rearrange)

QO i e
CH~C—CH, <5 7— CH~C~CH,
N
CH, CH;

tert butyl ethyl ether

The mismatched combinations are

A. Chlorophyll - Co

B. Water hardness - EDTA

C. Photography - [Ag(CN), |-

D. Wilkinson catalyst - [(Ph,P), RhCl]

E. Chelating ligand - D - Renicillamine

Choose the correct answer from the options given below :

(1)Aand C Only (2) Aand E Only (3) Dand E Only (4)A, Cand E Only
I HATS B

A. FARIBS - Co

B. 5idT &1 ®aRar- EDTA

C. ®rerml - [Ag(CN), ]

D. fafed=a SR - [(Ph,P),RhCI]

E. #1aife forrs - D - A Riertes

$1 fog fepedt ¥ A W IR G

(1) ®aar ARC (2) ®ad ASIRE (3) ®ad D3IIRE (4)dad A, C3IRE

Question ID: 3666947253

Ans.

Official Answer NTA (1)
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Sol.

80.

Mg is present in chlorophyll and in black and white photography the developed film is fixed by washing with
hypo solution which dissolve the undercomposed AgBr to form a complex ion [Ag(S,0,),]*.
The energy of an electron in the first orbit of hydrogen atom is —2.18 x 108 J. Its energy in the third Bohr orbit

is

1
(1) One third of this value 2) 9 th of this value

1
3) 7 of this value (4) Three times of this value

BISSIO YA Bl UM R HeAT § Seldg™ Bl ol —2.18 x 1078 ] 5 | TelF dR &ell § D! Holl o -

1
(1) 39 7 @1 T fsTg (2) & 1T 1 o
(3)3?1%@% (4) 39 49 BT 4 1

Question ID: 3666947243

Ans.

Sol.

81.

Ans.

Sol.

Official Answer NTA (2)
72

b

E, n}

E_2 = n_12 (for H atom)

t,, , is the time required for the reaction to undergo 87.5% completion and t, is the time required for the
reaction to undergo 87.5% completion and t,  is the time required for the reaction to undergo 50% completion.

The relation between te and t, for a first order reaction is ty, =X X1,

The value of x is
T 3T 87.5% qui 8 & forg smawasd wHa © t, a2 50% o 81 @ e srawad waa t 2t
TATL,, D HeY A t, =X x t, B, AT x B AA B |(FrbeaH i #H)
Question ID: 3666947269
Official Answer NTA (3)
Kt .=2.303 log 100 -(1)
: 12.5
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100
=2.303 log S0 -(2)

Kt

50%

ty, log’
to 0, = 3 x o0,
so x=3
82.  A,+B,—>2AB. AH? =200 kJ mol"
AB, A, and B, are diatomic molecules. If the bond enthalpies of A, B, and AB are in the ratio 1 : 0.5 : 1, then
the bond enthalpy of Ajis_ kJmol ™.
A, +B,—2AB. AH{ =-200 kJ mol
AB, A, 7 B, fgureifoas 3] 2 1 afe A, B, G2 AB @1 affaee Giedial 1: 0.5 : 1 argurd § 8 a1 A &1
My Tl kJ mol ! RT (MhedH qurias #)
Question ID: 3666947265
Ans.  Official Answer NTA (800)
Sol. A, ,+B,—— 2AB; DH°=-400 KJ mol

DHor =E -A + EB—B - 2EA—B

—400=E, ,+05E, , —2E
E, , =800 KJmol"

A-A

83.  Forthe givenreaction
CH, CH,
| | o
CH3—CI—CIH—C|—CH3 T>
H,C OH H
!A!

The total number of possible products formed by tertiary carbocation of A is
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A & Rl srfwfohar
o
CH, = ¢ = CH = ¢ = CH %
H,C OH H
VAV
@ foy AD TS SEFERM & W9 Bl ST BT AT 2
Question ID: 3666947271
Ans.  Official Answer NTA (5)
ClH3 CllH3 CH, ClH3
Sol.  Me—C — CH—C—CH, - CH—C — CH—C—CH,
I | ]
CH, OH H CH, gHZ H
l—HZO
CH, CH,
| o |

CH3—(|3 — CH—?—CH3

CH, H

(2° - carbocation)
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e
—CH, migration
from left carbon

CH, CH,
| o |
CH3—C|J — CH—?— CH,
CH, H o
H migration
\fiom right
carbon CH,

Me Me,C — CHz—g — CH,

CH,

| |
CH—C — CH—C—Me

CH, Me

AN

CH,

%
CH—C — CH—CMe,

CH,

A

R S
)

/lA\
Me,C —CH=C—Me Me,C—CH—C= CH,

Me
(1) (1)

CH,

CH,
CH—C = C—CMe,
CH,

(M

Total possible products = 5

84.  KMnO, is titrated with ferrous ammonium sulphate hexahydrate in presence of dilute H,SO,. Number of

water molecules produced for 2 molecules of KMnO, is
a9 H,SO, ®! SuRf § KMnO, &1 B SHITH Fehe sailelgse W od 3gHIT &)d & 74 KMnO, &
23] & fore Iou=1 STt @& <At @l e 2|

Question ID: 3666947263
Ans.  Official Answer NTA (68)

Sol.  2KMnO, + 8H,80, + 10FeSO,(NH,), SO, 6H,0 —>
K,SO, +2MnSO, + 5 Fe(SO,), + 10(NH,), SO, + 68H,0
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85.

A certain quantity of real gas occupies a volumes of 0.15 dm?* at 100 atm and 500 K when its compressibility

factor is 1.07. Its volume at 300 atm and 300 K (When its compressibility factoris 1.4)is ~~ x10*dm?
rdfdes 19 & va [f¥Ea w31 100 atm @ 500 K 9= 0.15 dm? 37Id4 2R 8, 59 396 AUrSadl ol
1.07 81 300 atm T 300 K W 39T NI (T4 39S A<t Ioniw 1.4 E)8Fm_ x10* dm?
(Frepeem qories #)

Question ID: 3666947264

Ans.

Sol.

86.

Official Answer NTA (392)

S
~ RT

£= PV, « T

Z2 T1 PZYZ

1.07 _100x0.15 " 300
1.4 5000  300xV,

V, =0.03925
=392.5 x 10 dm’

Solution of 12g of non-electrolyte (A) prepared by dissolving it in 1000 mL of water exerts the same osmotic

pressure as that of 0.05 M glucose solution at same temperature. The empirical formula of Ais CH,O. The

molecularmassofAis g,

12g I5ga—aMuged &I 1000 mL STt # €t &R IR 1T fAeTa I &1 URTARYT Q14 Ied~ Dl & fora1
S 19 TR TP b1 0.05 M e | A @1 gerrgurlt @ CH,O 8 | A®l amvifds gem<_ g#®
(Frepee qories )

Question ID: 3666947266

Ans.

Sol.

87.

Official Answer NTA (240)

T= 754 14cose

n=1CRT

1x12
MA

RT=1x0.05 xRT

M, =240
20 mL of calcium hydroxide was consumed when it was reacted with 10 mL of unknown solution of H,SO,.

Also 20 mL standard solution of 0.5 M HCl containing 2 drops of phenolphthalein was titrated with calcium
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hydroxide, the mixture showed pink colour when burette displayed the value of 35.5 mL whereas the burette
showed 25.5 mL initially. The concentrationof H.SO,is__ M.

10 ml, H,SO, & T 3rsilel faera & ifAifshar e uR dbfesrd eggiags & 20 mL SWINT ¥ 31 & | 20
ml, 0.5 M HCl & 91& faeia T H 2 41 BFTAuIfc STadh? SRR SE9Iadss ¥ JAFATIT 6l TR Hsfoy
AT 7 AT € o9 e /AT 35.5 mL YR @Rl © | 9Re A gRe 25.5 mL A fan wer o | H,S0,
B Aigar M E| (e gorte #)

Question ID: 3666947272

Ans.

Sol.

88.

Official Answer NTA (1)
Ca(OH), + 2HCl — CaCl, + 2H,0
Im equivalent of Ca(OH), = Im equivalent of HCI

Mx2x10=0.5x1x20

M=0.5

Molarity of Ca(OH),=0.5 M

Ca(OH), + H,So, — CaSO, + 2H,0

Im equivalent of Ca(OH), =Im equivalent of H,SO,

0.5%x2x20=Mx2x10

M=1

An organic compound gives 0.220 g of CO, and 0.126 g of H,O on complete combustion. If the % of carbon
is 24 then the % of hydrogen is x 1071

U BeD Alfed qoiged 1R 0.220 g CO, @2 0.126 ¢ H,O <ar & | afe S&H wrd= &1 %, 24 81 aF H

gfererd gRfY x 10" (Mevedq guries #)

Question ID: 3666947270

Ans.

Sol.

Official Answer NTA (56)

12 x mass of CO,
44 x Mass of sample

% of carbon = x100

12 x0.220
44 x 24

Mass of sample = 100

=025¢

12 x Mass of H,O
18 x Mass of sample

%100

% of Hysrogen =

12x0.126

x100 =
18 x 0.25 >0
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89.

= 56x107"

A metal surface of 100 cm? area has to be coated with nickel layer of thickness 0.001 mm. A currect of 2A 2as
passed through a solution of Ni(NO,), for 'x' seconds to coat the desired layer. The value of x is

(py (density of Nickel) is 10 gmL™", Molar mass of Nickel is 60 g mol"' F = 96500 C mol ")

100 cm? &3thel @1 T o1q 1 i8I 0.001 mm HieTg 1 el IR A @bl & | 39 WRd & forg Ni(NO,),
@ faeae # 2A @ faggd R X' Vs T Yarfed & T &I xdTAF & (Mdpeas guiie 4)

(py, (et @1 o) & 10 g mL! et & HieR ge@ 60 g mol ™) (F = 96500 C mol ™)

Question ID: 3666947268

Ans.

Sol.

90.

Official Answer NTA (161)
Volume of Ni lager =100 x 10~ cm?

=102 cm?
mass of Ni=10x102=0.1¢g
W="ZIt
= 013296500 =160.83 sec.
60x2
=161 sec

25.0 mL 0f0.050 M Ba(NO,), is mixed with 25.0 mL 0f 0.020 M NaF. K, of BaF,is 0.5 x 10°at 298 K.
The ratio of [Ba*"] [F]* and K, is . (Nearest interger)

0.050 M Ba(NO,), & 25.0 mL &1 0.020 M NaF @ 25.0 mL @& wrer ff3ra fobar 7 2 | BaF, &1 298 K &)
Ksp 0.5 x 10°%, [Ba*] [FP 0K @ramgud_ 2|

Question ID: 3666947267

Ans.

Sol.

Official Answer NTA (5)
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